Exercise (Week 12)
November 22, 2024

1. B3 V % vector space ® vi,vp 5 H basis. % g V } - B inner product (, ).

c el = vl =9 2 (v = —L F Wy =2 —va, wa = vi 2w,
<W17W2>-
2. % A=l[a] ¥ 1x1 matrix, 2 * & det(A) =a, 7 § A= {CCI Z} % 2 X2 matrix,

AP g & det(A) =ad — be.

(a) #F#HP (A,B) =det(B'A), VA,B € My 1(R) £_F 5 My, (R) = inner product?
(b) #FHP (A,B) =det(B'A), VA,BE M 2(R) £.F % M;x2(R) £ inner product?
¥

B HeA A 2 eh R il S R AR e £ 2 P(R).
)

e
(f,8) =f(=Dg(=1)+ f(1)g(1),V f,g € P(R)

4 % 5 Py(R) & inner product?

(f,8) = f(=De(=1)+f(1)g(1) + f(=2)8(=2) + f(2)8(2), V[, g € A(R)

% Py(R) & inner product?

(f,8) =f(=1)g(=1)+ f(0)g(0) + f(1)g(1),V f,g € Pr(R).
A P el ] 2 2 o x4 1
4. HEZ VIihF B s SEE ST={veV:(v,w)=0YweS}

, 7P = eh— i subspace.

) FSCV,#p St LV bsp

b) #pP St = Span(S)*’.
) B& S) CSy % 5 V ehsubset, @ Sy C St
) #P SC (ST, £ kP Span(S) C (SH)*h

5. ¥ & V % finite dimensional inner product space.

ALY
a) B3k W 5 V chisubspace, P & vEW, Bl s uec Wt &2 (v,u) #0.
S Wl,Wz %V &hsubspace, P (W) +Wa)t =WiNWst.

(32 : % § V % finite dimensional )

(c) B3%k W;,Wy 5 V &hsubspace, P Wi +Wih = (W NWy)t.



